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Question Number : 1 Question Id : 3271671056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“It is logically impossible to distinguish administrative law from constitutional law and all
attempts to do so are artificial”. Who said so?

Options:
1 # Holland

> o Keith

5 # Dicey

4 # Jennings

Question Number : 1 Question Id : 3271671056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 3271671057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Article 262 of the Indian Constitution is the genesis for:

Options:
1 % Law Commission of India

5 % Gram Panchayat

= % Inter State Council

4 « Inter State Water Dispute Authority

Question Number : 2 Question Id : 3271671057 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 3271671058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does the latin maxim. “Delegatus Non Potest Delegare” means?
Options:

, « A delegate cannot delegate

- u Delegated legislation is unlawful

5 » Only Parliament can legislate

4 = Delegation is unconstitutional

Question Number : 3 Question Id : 3271671058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 3271671059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which one of the following is NOT a tribunal within the meaning of article 227 of the
Constitution?
Options:

, w» Panchayat Court

- % Statutory Arbitrator

% « Conciliation Officer

4 = Rent Control Authority

Question Number : 4 Question Id : 3271671059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 3271671060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
It is a judicial order issued by the Supreme Court or High Court to any constitutional.
statutory or non-statutory agency to prevent it from continuing their proceeding in abuse of
jurisdiction or contravention of law.
Options:
1 % Writ of Mandamus

> o Writ of Prohibition

5 = Wwrit of Quo Warranto

4 w Injunction

Question Number : 5 Question Id : 3271671060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 3271671061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The technique of post decisional hearing was developed by the Supreme Court of India in:

Options:
, = State of Punjab V/S Khan Chand

- = State of Kerala V/S P J Joseph

=z # S R Venkataraman V/S UOI

4 « Maneka Gandhi V/S UOI

Question Number : 6 Question Id : 3271671061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 7 Question Id : 3271671062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The rule *the one who decides must hear’ relates to:
Options:

1 R Doctrine of separation of power

- « Doctrine of fair hearing

- » Doctrine of delegated legislation

4 # Doctrine of res judicata

Question Number : 7 Question Id : 3271671062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 8 Question Id : 3271671063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which article is a limitation to the ‘doctrine of pleasure’?

Options:
1 « Article 311
> % Article 310

%z % Article 312

4 % Article 321

Question Number : 8 Question Id : 3271671063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 3271671064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Right to information Act came into force in which year?

Options:
1 ® 2004

> % 2000
3 « 2005

4 % 2008

Question Number : 9 Question Id : 3271671064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 % 2004

> % 2000
3 o 2005

4 % 2008

Question Number : 10 Question Id : 3271671065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In Which case the Supreme Court held that the economic policy of disinvestment cannot
be challenged in a Public Interest Litigation unless there is violation of right to life and
liberty of people who cannot approach the court due to socio-economic handicap?



Options:
, « Balco Employees Union V/S UOI

- % National Council for Civil Liberties V/S UOI

5 = S P Gupta V/S UOI

4 % MC Metha V/S UOI

Question Number : 10 Question Id : 3271671065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o A & giR #1T F Fa1 o Rfaayr & s & 9 75 =
SAfed TR # A AT & ST TRl g, 39 IF o F@1 S AR aEn H
F=IIaT F FOFRT 1 Ioaus a7 A I @ A, S GAESE-0E arer
FOT HSToAd dF ;rg’rqg?-rm#r?

Options:
X L o o
,, FToehl FHEA T SAH G 3T 35

e

AR FIAIAHT & fow TSET IREE a7 3 H5

. T8 e S 3 A

, o« UH W AA ARG I A

Question Number : 11 Question Id : 3271671066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The judge made rule of ‘No Evidence’ suggests that:
Options:
In an administrative adjudication if there is some evidence in some corner of the record.
1 « the decision is valid

- w Evidence is not at all required in administrative adjudication

5 » Evidence is a question of law

, w Evidence in administrative adjudication is acceptable in criminal case



Question Number : 11 Question Id : 3271671066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 3271671067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which one of the following is NOT a correct statement?
Options:

, = Taxing power is an essential legislative power.

The power to levy tax cannot be delegated even after legislatures themselves carry out
-  essential legislative function.

- = Power to tax can be exercised for regulating social and political structure of the country.

4 w ‘Power to exempt any item from tax’ can validly be delegated.

Question Number : 12 Question Id : 3271671067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 3271671068 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Doctrine of Public Accountability helps to:
Options:

, « Check the misuse of administrative power

- = Impose duties on private citizen

5 w Tlake casual approach by executive

4 = Publically prosecute the administrators

Question Number : 13 Question Id : 3271671068 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HaATaes AdEcel & Oed &0 # ¥ g #cg #+a &
Options:

S TRATHTAF Hedl & GEIALT FH ket H

i s AeliE o e e A
L PIAHTTOIRT SART TR EHE TToChIUT I

o TrEtles & 8§ FMHeA T HHSHAT ol H

Question Number : 14 Question Id : 3271671069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Who defined administrative law as “‘a study of the pathology of power in a developing
society™?

Options:
; » AV Dicey

-  Upendra Baxi



5 w SirIvor Jennings
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Question Number : 14 Question Id : 3271671069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 3271671070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Under the Regulating Act, 1773, The Supreme Court was established at Calcutta in the
year:

Options:

1 % 1773

5 o 1774

Question Number : 15 Question Id : 3271671070 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 3271671071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 3271671071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which doctrine ordains that an administrative measure must not be more drastic than is
necessary for attaining the desired result?

Options:

1 % Doctrine of reasonableness

> w Doctrine of legitimate expectation

5  Doctrine of proportionality

4 #% Doctrine of malice

Question Number : 17 Question Id : 3271671072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Espirit des Louis {The Spirit of the Laws) is a book written by:

Options:
1 % Hobbes

- % Locke



= % Auristotle

4 « Montesquieu

Question Number : 17 Question Id : 3271671072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

Question Number : 18 Question Id : 3271671073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Though the action of making selection for government services is administrative yet the
selection committee is under a duty to act judicially. This is the ratio of which case?

Options:
; % Manju Varma V/S St of UP

> % St of Maharashtra V/S M F Desai

v AK Kraipak V/S UOI

4 # DK Yadav V/S IMA Industries

Question Number : 18 Question Id : 3271671073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 3271671074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which article in the Indian Constitution strikes at arbitrariness in State action and ensures
fairness and equality of treatment?

Options:
1 « Article 14

> % Article 13
z % Article 12

4 % Article 21

Question Number : 19 Question Id : 3271671074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 3271671075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The administrative decision on ‘determination of citizenship’ is an example of which
function?

Options:



1 % Administrative

- u Purely administrative

5  Quasi-judicial

4 = Legislative

Question Number : 20 Question Id : 3271671075 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 3271671076 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following is a correct statement?
Options:

, w» Administrative instruction issued in absence of any statutory authority has force of law.

By administrative instruction government has no power to fill up gaps in the rules if the
- # 1ules are silent.

5 o An administrative instruction in violation of statutory rules cannot be sustained.

The violation of a binding administrative instruction cannot be enjoined through a court of
4 ® law.

Question Number : 21 Question Id : 3271671076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 3271671077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Nemo in propria causa judex esse debet, means:

Options:
1 % Hear both the side

-  No one should be made a judge in his own cause

= % No one should be condemned unheard

4 % Procedure is the handmaid of law

Question Number : 22 Question Id : 3271671077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 3271671078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Bias would not disqualify an officer from taking an action if no other person is competent
to act in his place. This exception is based on which doctrine?

Options:

, « Doctrine of necessity

-~ % Doctrine of subject matter

% % Doctrine of bias

4 % Doctrine of institution

Question Number : 23 Question Id : 3271671078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 3271671079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Useless formality theory is exception to what?
Options:

« Sub delegation

e o

- « Principle of natural Justice

- » Doctrine of separation of power

4 % Judicial Review



Question Number : 24 Question Id : 3271671079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 3271671080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the meaning of the Latin word ‘certiorare’?

Options:
1 % Command

> o Inform

- u Authority

4 % Certificate

Question Number : 25 Question Id : 3271671080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Question Number : 26 Question Id : 3271671081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

What is NOT an exception to the rule of natural justice where application of natural justice
principles may be excluded?

Options:

, w» Confidentiality

> w Emergency

- = lmpracticability

4 « Administrative inconvenience

Question Number : 26 Question Id : 3271671081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 3271671082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which one of the following is an example of administrative action or rule application
action?
Options:

, « Fact finding action

-~ w Registration of a political party by election commission

 Determination of statutory disputes

 Disciplinary proceeding against student

Question Number : 27 Question Id : 3271671082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 3271671083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Regulations’ and ‘orders’ are examples of delegated legislation under which
classification?

Options:

1 % Discretion based classification

- « Title based classification

- w Purpose based classification

4 = Authority based classification

Question Number : 28 Question Id : 3271671083 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 3271671084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
A delegation giving power to amend Acts of Parliament is
Options:

; % Sub delegation

-~ % Conditional delegation

-  Exceptional delegation

4 # Valid delegation

Question Number : 29 Question Id : 3271671084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Toe & FfETat & e s f afET @ TeT U gfafatEse

gl
Options:

| = 39 SlateAraHse

- x T gaAfEEse
5« HEER gEEREse

4 = AT gEAfEEsT

Question Number : 30 Question Id : 3271671085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Excessive delegation is
Options:

1« Unconstitutional

- % Permissible
= % Discretion of the Parliament

4 % Constitutional

Question Number : 30 Question Id : 3271671085 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 31 Question Id : 3271671086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In 1929, the Committee on Minister’s power headed by ————  was appointed by
the British Government to examine the problems of delegated legislation and the judicial
and quasi-judicial powers exercised by officers appointed by the ministers.

Options:
; = Lord Denning

-  Lord Donoughmore

5 = laylor

4 # Lord Diplock

Question Number : 31 Question Id : 3271671086 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 3271671087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Subject to provisions of the Constitution. the Union and the State can exercise executive
powers by issuing

Options:
;= Injunctions

- % Writs
3 « Administrative instructions

4 % Administrative discretion

Question Number : 32 Question Id : 3271671087 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 3271671088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to Davis. “‘probably the principal doctrinal barrier to the development of the
administrative process has been the y

Options:
. w Theory of natural justice

-~ # Green light theory

- » Red light theory

4  Theory of Separation of power
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Correct: 1 Wrong: 0

When provisions are made in a statute by which the orders passed by administrative
tribunal or other authorities are made final. it is known as

Options:
1 R Administrative finality

o  Statutory finality

- » Provisional finality

4 = Conclusive finality

Question Number : 34 Question Id : 3271671089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

S TS I TF Fleld a1 (&A1 AT § A TTH{AG FArATaaor TN e
HIEFINAT SIRT TG 3T & a7 F=r = g159 5= &g & & =
ST & !

Options:

| % Hied® JHHEF
5 of Hﬁﬁé{ﬂﬁm

T #® mm



4 B mﬁl‘mﬁ'&?

Question Number : 35 Question Id : 3271671090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
The Lokpal and Lokayuktas Act were passed in which year?

Options:
1 ® 2011
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3 « 2013
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Correct: 1 Wrong: 0
Under section 3 (2) (b) Provision of the Lokpal and Lokayuktas Act. not less than fifty per
cent of the Members of the Lokpal shall be from amongst the persons.

Options:
Belonging to the Scheduled Castes. the Scheduled Tribes. Other Backward Classes.
1 « Minorities and women

-~ % DBelonging to opposition

- » DBelonging to judiciary

, = DBelonging to eminent category of high moral character



Question Number : 36 Question Id : 3271671091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
9T 3 (2) (@) & FAT AR AR AHgFa FAATA & U F FFER
RIS & FH H FH TArg Jiafd HEET §4 SAiaadr & s O gl Igv]

Options:

yrafEa S, FEET FAed, 3T HosT 39, seqaede AR Al
| ¢

. % TATIITORT T HEtd

, » 3= AfaF INF F I=TF T ¥ e
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Correct: 1 Wrong: 0
Under section 11(1) of the Lokpal and Lokayuktas Act, the Lokpal shall constitute

for the purpose of conducting preliminary inquiry into any offence alleged to
have been comumitted by a public servant punishable under the Prevention of Corruption
Act. 1988.

Options:
1 ® Prosecution wing

- » Disciplinary conunittee

- w Investigation wing

4  Inquiry wing
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Correct: 1 Wrong: 0
The report of Administrative Reform Commission, dated 20.10.1966 advocated the

adoption of the ———— in India.
Options:
1+« Ombudsman

- % Administrative minister
%z % Law commission

4 = Legal services authority
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Under article 151 of the Constitution of India. to whom the reports of the Comptroller and
Auditor-General of India relating to the accounts of the Union shall be submitted?

Options:

1 +« To the President



- % To the Prime Minister
= % To the Finance Minister

4 % To the Governor of Reserve Bank
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Correct: 1 Wrong: 0
Which of the following statement is NOT true with respect to government contracts?
Options:

; = It shall be expressed to be made by the President. or by the Governor of the State

- w ltmust be made in the exercise of the executive power of the Union or of a State

5 « [Ihe President and the Governor can be made personally liable in respect of such contract

It must be executed by such persons and in such manner as the President or the Governor

, # may direct or authorize
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Correct: 1 Wrong: 0

does not have the power toquash or reverse an administrative decision,

Options:
; = High Courts

> o Ombudsman

- % Supreme court

4 % Apex court
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Correct: 1 Wrong: 0
If a tort is committed by a defense personnel in peace time:

Options:



. « FPrinciple of sovereign immunity will have no application

- u Principle of sovereign immunity will have application

- % Law is not certain on this point

, = International humanitarian law will have application
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Correct: 1 Wrong: O
To attract the doctrine of promissory estoppels by government there must be:
Options:

, w Definite representation by government

- % The person acted upon such representation and altered his position

- = [Ihe person suffered damage

Both Definite representation by government and The person acted upon such
4 « representation and altered his position
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Correct: 1 Wrong: 0

Which provision of criminal Procedure Code 1973 deals with protection of public servant
from prosecution?

Options:

1 « Section 197

> % Section 123
%z % Section 179

4 % Section 200
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If an adjudicatory body disposes of a matter without applying its mind. to a material
circumstance which has been duly brought to its notice. then it amounts to




Options:
1 « Patent error of law

- % Mere error of fact
= % Irrelevant consideration

4 % Collateral error of fact
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Correct: 1 Wrong: 0
The question whether the jurisdictional fact has been rightly decided or not by an authority
1s a question that is open for examination by the court in:

Options:
1 « Writ of certiorari

> % Writ of prohibition

- = Disciplinary proceeding

4 % Writ of mandamus
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Error of jurisdictional fact renders the order of an authority:

Options:
1 % Acceptable at the option of the party

- % Voidable
= o Ultra vires

4 % Enforceable
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Correct: 1 Wrong: 0
When a high court cannot interfere with the finding of a tribunal?
Options:

, w Ifthe tribunal misreads the evidence and ignores material evidence

-~ » Ifthe finding of fact is perverse and not based on legal evidence

- » If the finding is vitiated by manifest error of law

4 « i the finding is based on relevant consideration and evidence on record
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Which article of the Constitution of India provides for the appointment of Comptroller and
Auditor-General of India?

Options:

1 % Article 147

> % Article 174
3 % Article 184

4 « Article 148
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Correct: 1 Wrong: 0

The ombudsman in England is officially known as:
Options:

, « Parliamentary Commissioner

- % Crown man

- = Royal Commissioner

4 = English ombudsman
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Question Number : 51 Question Id : 3271671106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following is not a function of a leader in an organization?

Options:
, = Motivating employees

-  Fixing the remuneration package of the employees

- = Resolving conflict

4 = Selecting the most effective communication channel
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Question Number : 52 Question Id : 3271671107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which one of the following statements is not correct?

Wider span of control is consistent with efforts of the organizations to:
Options:

1 % Get closer to customers

» = Speed up decision making

=z # Reduce cost

4 « lmprove supervision
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Who among the following developed the classic three- step model of organizational
change?

Options:
1 « Kurt Lewin

> % H. Simon
= % JP. Kofter

4 = L.R. Murphy
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Correct: 1 Wrong: 0
Laboratory training is also known by the name:

Options:
| Sensitivity training

> % Job instruction training

- % Apprenticeship training

4 % Simulations

Question Number : 54 Question Id : 3271671109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
OIS STereToT foh e 30 FTH | 8T =T AT 2?2

Options:
| TacaAsfedr gfvetor

o w Sy feyefer gfvatoT
4 ® ﬁaﬁam

Question Number : 55 Question Id : 3271671110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct: 1 Wrong: O

A team of learner working online in a real-time mode using the Internet is known as:
Options:

; » Individualized self-paced e-learning online

> # Individualized self-paced e-leamning offline

-  Group-based e-learning synchronously

4 = Group-based e-learning asynchronously
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Correct: 1 Wrong: 0
Who among the following conducted one of the most widely cited pig iron experiment as
an example of scientific management?

Options:
1 % Robert Owen

-  Frederick W. Taylor

% #% Chester Barnard

4 # Mary Parker Follett
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Question Number : 57 Question Id : 3271671112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following introduced the concepts and phrases “‘conflict resolution™ and
“the task of leadership™?

Options:
, = HenriFayol

- u Elton Mayo

5  Mary Parker Follett

4 % Chester Barnard
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Which one of the following is not included in “hygiene™ factors in the Herzberg two-factor
theory of motivation?

Options:

. = Salary

- = Working conditions

- » Company’s policy



4 « Responsibility
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Which one of the following statements is not correct in respect of the rational
comprehensive approach of decision-making in an organization?
Options:
; = It cannot be simulated under laboratory conditions.

> w Vvalues to be realized are usually not set out distinctly.

5 » Individual decision-malker cannot take a comprehensive view of the whole problem.

4  Theneed for speed compels decisions to be taken on the basis of incomplete data.
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Correct: 1 Wrong: 0
Which one of the following statements is not correct?
Decision making in the public sector. in comparison to the private sector. involves:

Options:
, = Higher levels of constraint

- # More complexity

= « Less consultation

4 % More conflict
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The Wagner Act which proved to be the Magna Carta of labour was introduced in which
country?

Options:

1 + United States of America



- % Great Britain
= % France

4 R Japan

Question Number : 61 Question Id : 3271671116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

R AT S ATHeR & TorT el shel e g7 foh er & S o =ram om?
Options:

OO3g U= J¥HANST
T A

o R g)?ﬁéﬂ-

Question Number : 62 Question Id : 3271671117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct: 1 Wrong: 0
teams consist of employees from the same hierarchical level. but from different
functional areas of the organization.
Options:
» Problem-solving teams

DR

- = Self-managed work teams

= « Cross-functional teams

4 w Quality circles
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The Bank Wiring Room Experiments are related to the:
Options:

1 + Hawthore studies

> w Grapevine

= % Rumors

4 w Probability chain
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How is control exerted in a formal organization?
Options:

, = Through rewards and punishments

- w Through norms



5 % [Ihrough sanctions

4 « Both Through norms and Through sanctions
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Every one intends to discuss a great deal about issues related to their work atmosphere. Of
the topics mentioned below., the wish to discuss is minimum with regard to

owing to varied reasons.
Options:

1 % Job satisfaction

> w Job profile

= « Power issues

4 w Training activities
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Question Number : 66 Question Id : 3271671121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is ‘grapevine’?
Options:

, % Well-defined communication systems consisting of formal memos. reports, etc.

-  Channels of informal conununication in an organization

- % [Ihe telegraph wires strung over trees across the battlefield

4 = Social interactions that take place between people

Question Number : 66 Question Id : 3271671121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TS FATE?

Options:

- T EETeA J HAtTniie 39 F Areg st ¥ e g4 ge qumer

TEFHITH IS Hdwé‘g‘édli
, » I e S glet JTel AT e ararerT

Question Number : 67 Question Id : 3271671122 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is a process in which jobs are grouped together for coordination among
organizational tasks.

Options:

, « Departmentalization



- % Chain of command

5 % Span of control

4 % Formalization

Question Number : 67 Question Id : 3271671122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 68 Question Id : 3271671123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In what kind of organizational structure is decision-making power for the entire
organization vested in one person at the top?

Options:
1 % Bureaucracy

o  Simple structure

% % Matrix structure

4 % Horizontal
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Question Number : 69 Question Id : 3271671124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which of the following organizations is upward communication nominal?

Options:
; = Simple structured organization

-  Bureaucratic organization

5 » Matrix organization

, » Both Simple structured organization and Matrix organization

Question Number : 69 Question Id : 3271671124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 70 Question Id : 3271671125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Some employees are able to work to their full potential only when they are under
minimum supervision. Such employees are most productive in which type of
organizational structure?

Options:



, = Inorganizational structures where there is a narrow span of control

- % Inorganizations where the supervisor constantly guides subordinates

5 N organization structures where there is a wide span of control.

Both In organizational structures where there is a narrow span of control and In
4, # organizations where the supervisor constantly guides subordinates

Question Number : 70 Question Id : 3271671125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 71 Question Id : 3271671126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Insurance schemes. retirement benefits and leave travel concession are examples of:

Options:
1 Indirect monetary CGIIlpEI‘LSE!Tmn

-, % Direct monetary compensation

-  Non-monetary compensation

4 % Rewards



Question Number : 71 Question Id : 3271671126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 72 Question Id : 3271671127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Managers never own complete responsibility for all the decisions made by them since they
are not the owners of the business is the assumption of:

Options:
, = Equity theory

> % Expectancy theory

5  Agency theory

4 = Contingency theory
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Question Number : 73 Question Id : 3271671128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Legitimate power emanates from :

Options:

, w Performance in the organization

- % Rewards showered

-  Hierarchical position in the organization

4 % Belief of the subordinates

Question Number : 73 Question Id : 3271671128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 74 Question Id : 3271671129 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Referent power is dependent on which of the following attributes?
Options:

. w Position in the organizational hierarchy

- % Belief of the subordinate

- « Charisma of the superior and admiration of the same by the subordinates

4 = Itisaderivative of the domain expertise

Question Number : 74 Question Id : 3271671129 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 75 Question Id : 3271671130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is identical to authority?

Options:
1 ® Referent power

5 % Expert power

5  Legitimate power

4 % Reward power

Question Number : 75 Question Id : 3271671130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 76 Question Id : 3271671131 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The term used before the language of modern HRM was



Options:
1 % Customer Relations

5 of Personnel Management

- u Organisational Management

4 Talent Management
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Question Number : 77 Question Id : 3271671132 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wages which are usually positioned above the minimum wages but below the living wages
are described as:
Options:
, = Realwages

-  Fair wages

- w Minimum wages

4 = Living wages
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Question Number : 78 Question Id : 3271671133 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HRM is

Options:

, « Employee oriented

- % State oriented

- # Legally oriented

4 % Nation oriented
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Question Number : 79 Question Id : 3271671134 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Job Enrichiment

Options:
; = Increase in the amount of money employees are paid for completing an unit of work

> w A programme through which management seeks greater productivity from workers.

Means that staff is moved periodically from task to task in order to increase variety and
= # interest

4  Involves giving employees work with a greater degree of responsibility and autonomy
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Question Number : 80 Question Id : 3271671135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Authority in an organisation flows as a

Options:
1 « A line function

- % A staff function

= u A staff function. line function and accounting function

4 % Team Function



Question Number : 80 Question Id : 3271671135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 81 Question Id : 3271671136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The scope of HRM does not include

Options:
, w» Retirement of employees

> w Manpower planning

- u [raining of employees

4 « Maintenance of accounts

Question Number : 81 Question Id : 3271671136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 82 Question Id : 3271671137 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The first step in the human resource planning process is:
Options:
, = Preparing a job analysis

-  Forecasting future human resource needs

5 = Assessing future demand

4 = Assessing future supply

Question Number : 82 Question Id : 3271671137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 83 Question Id : 3271671138 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following departments is responsible for handling safety & health issues of
emplovees?

Options:

, « HR department

5 # Procurement department

- u Finance department

4 # Marketing department
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Question Number : 84 Question Id : 3271671139 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The thorough & defailed study regarding jobs within an Organization is represented by:
Options:

; « Job analysis

- % Job description

5 = Job specification

4 # Job evaluation
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Question Number : 85 Question Id : 3271671140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



All of the following are sources of internal recruiting except:
Options:
; = Job posting

> w Employee recommendations

= « Advertisements

4 % Transfers

Question Number : 85 Question Id : 3271671140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 86 Question Id : 3271671141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is meant by the term 'management by objectives'?
Options:
A system of giving the authority to carry out certain jobs by those lower down the

, w» management hierarchy

- % [Ihe system of management that is based on bringing together experts into a team

-  [Ihe setting of objectives to bring about the achievement of the corporate goals

4 # The control of the organization by those in the ‘head office’
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Question Number : 87 Question Id : 3271671142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is a percentage on the volume of sales.

Options:

, w Profit sharing

- % Piecework
3 « Commission

4 % Bonus
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Question Number : 88 Question Id : 3271671143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The advantage of external recruiting is that

Options:

; = Itensures consistency from opening to closing



o It is useful for companies too small to have dedicated recruiters

- u Itisvery inexpensive

4 # Itistime consuming
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Question Number : 89 Question Id : 3271671144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In strategic human resource management. HR strategies are generally aligned with:
Options:

| « DBusiness strategy

- w Marketing strategy

- % Finance strategy

4 Economic strategy
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Question Number : 90 Question Id : 3271671145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a written statement of the skills. knowledge. abilities. and other
characteristics needed to perform a job effectively?

Options:
; = Job design

- « Job specification

5 = Job analysis

4 w Job description
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Question Number : 91 Question Id : 3271671146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A job is a written statement of the job's activities. the equipment required for
it. and the working conditions i which it exists.

Options:



, = Analysis
¢ Specification

5 # Design

4 « Description
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Question Number : 92 Question Id : 3271671147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following are among the 14 principles of management in the classical
management work of Henri Fayol?

1. Personnel tenure.

2. Unity of command.

3. Core competence.

4. Scalar chain.

Select the correct answer using the code given below:

Options:
¢ Only 1. 2and3

1 ®
5  Only2and4

5 # Onlyland3

4 % 12,3 and 4
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Question Number : 93 Question Id : 3271671148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The extent to which an employment selection test provides consistent results is known as:
Options:

, « Reliability

-~ u Dependability

- » Consistency

4 % Trustworthiness
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 94 Question Id : 3271671149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘What is the Relationship between HRM & Management?
Options:

1 % Both are the same

-~ # Management is one aspect of HRM

5 « HRM is one aspect of Management

4 = No relationship exists
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Question Number : 95 Question Id : 3271671150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

HRP stands for

Options:

, % Human resource project

-  Human resource planning

5 # Human recruitment planning



4 Human recruitment procedure
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Question Number : 96 Question Id : 3271671151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following approaches emphasizes the ‘effect of psychological & social
factors on employees' performance?

Options:

; = Scientific approach

- % Rational approach

-  Human relations approach

4 # Systematic approach
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Question Number : 97 Question Id : 3271671152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Human resource planning techniques include the use of some or all of the following:

Options:
, = Size of organizational structure

- % Infrastructure Plan
= « Control and evaluation

4 % Employee Management
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Question Number : 98 Question Id : 3271671153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Increasing the number and variety of tasks assigned to a job is called
Options:

1 % Job rotation

- « Job enlargement

z % Job enrichment



4 % Job rotation and Job enrichment
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Question Number : 99 Question Id : 3271671154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1s the process of deciding what positions the firm will have to fill.

Options:
1 % Recruitment

> % Selection
-  Personnel planning

4 # Interviewing
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Question Number : 100 Question Id : 3271671155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Contingency approach to leadership focuses on which of the following?
I. Task requirements.

2. Peers’ expectations.

3. Employees’ expectations.

4. Organizational policies.

Select the correct answer using the code given below:

Options:
; » Onlyl 2and 3

- % Onlyl 2and4

- % Only3and4

4 o 1.2.3and 4
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